ARENE WhE BB EXR

1. DNA folding: R DNA HYZHE T ATGC RES A AHERASHYRFI: » FI FH R DNA
WIETFH —MoRf R DNA A [E]H ST SRR -
Self assembly: #i& n]4RHIHVFORGEBEMEM L 6T H—EIMERE R (FEAE
FEENEH S P AG B R MR HE T B ERaH AR R H A 4HARA4E TS -

2. (i) NCBI
(if) B B2 R R
FiEESEE R - US B 2,3,5,7,9,10,13 5 length A 7

4. () A T C T G C A C G

(0 3 -6 9 -2 -15 -18 2 A4
G 3 (3 8 1 -4 4 T 0 13 16
T 6 8 (3 0 3 6 9 12 -5 -1
C 9 a1 o () (8 5 2 1 4 g
G 2 14 3 3 6 3 10 7 4
C 15 17 6 5 3 13 ) 2u 18 15
A 8 7 9 2 0 10 A % 2%
C 2 10 12 1 3 7 1B 1 (4 37
T 2% 13 2 4 7 4 15 2% 3 (3

Score: 35, Optimal global alignment: GTC — GCACT
ATC T GCACG

(b) - . ..
S7(4,7):-12, —14, —3, 8, 6, 16, 13, 10, 7. 4

S™(4,)):4, 7. 10, 13, 16, 19, 8, —3, —14, —12

S™(4,/)+S(4.7):-8. —7, 7. 21, 22, 35,21, 7, —7. —8

@@%ﬁﬂﬁj\% R -

(c) SE2HEREEZR -

(d) A T C T G C A C G

o 0 0 0 0 0 0 0 0 o0
G o (o) o 0 o0 8 5 2 0 8
T o 0 (8 5 8 5 3 0 0 5
C o 0 3 1®» 10 13 10 8 3
G o 0 2 1B 1 (2 18 15 12 16
C 0o 0 0 1 8 8 (@ 26 23 0
A 0o 8 5 7 5 15 2% % 3]
C 0o 5 3 13 10 12 nB 34 4
T 0 13 10 21 18 20 31 & 40

TC - GCAC
TCT GCAC Score: 45
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& T C C G
4 minlnf  mininf minInf minInf minInf
-7 -14 -17 20 23 26
-10 1 £ 9 -12 -15
-13 2 9 2 -1 4
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4 -7 -10 -19
minInf 3
minInf 3
minInf 1
-19
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3
14

Score: 14

RS R

(a) Score(Seq1, Seq2) + Score(Seq1, Seq3) + Score(Seq1, Seq4)

+ Score(Seq2, Seq3) + Score(Seq2, Seq4) + Score(Seq3, Seq4)
=63 +41 +61 +50 +41 +47 = 303

(b) FESHE



